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Exercise E.1

Consider the following waiting conditions:

Node 𝐴: 𝐸𝐷 → 𝑡1, 𝑡1 → 𝑡2, 𝑡2 → 𝐸𝐵
Node 𝐵: 𝐸𝐴 → 𝑡2, 𝑡2 → 𝑡4, 𝑡4 → 𝐸𝐶
Node 𝐶: 𝐸𝐵 → 𝑡4, 𝑡4 → 𝑡3, 𝑡3 → 𝐸𝐷
Node 𝐷: 𝐸𝐶 → 𝑡3, 𝑡3 → 𝑡1, 𝑡1 → 𝐸𝐴
Indicate whether there is a deadlock.



Exercise E.2

Consider the following waiting conditions:

• Node 1: 𝐸2 → 𝑡1, 𝑡1 → 𝑡2, 𝐸3 → 𝑡2, 𝑡2 → 𝑡3, 𝑡3 → 𝐸2, 𝐸2 → 𝑡4,
𝑡4 → 𝑡3

• Node 2: 𝐸1 → 𝑡3, 𝑡3 → 𝑡5, 𝑡5 → 𝑡6, 𝑡6 → 𝐸3, 𝐸3 → 𝑡7, 𝑡7 → 𝑡6,
𝑡9 → 𝑡4, 𝑡4 → 𝐸1, 𝑡1 → 𝐸1

• Node 3: 𝐸2 → 𝑡6, 𝑡6 → 𝑡8, 𝑡8 → 𝑡2, 𝑡2 → 𝐸1, 𝑡7 → 𝐸2
Indicate whether there is a distributed deadlock.



Exercise E.3

Suppose we have 3 nodes 𝛼, 𝛽, and 𝛾, 6 transactions 𝑡1…𝑡6, and 6
resources 𝐴…𝐹 . 𝐴, 𝐵, and 𝐶 are on node 𝛼], 𝐷 is on node 𝛽, and
𝐸 and 𝐹  are on node 𝛾. Consider the following schedule

𝑟1(𝐸)𝑟2(𝐷)𝑟3(𝐴)𝑟2(𝐶)𝑤1(𝐵)𝑟4(𝐵)𝑤4(𝐴)𝑟3(𝐸)
𝑟5(𝐷)𝑤1(𝐶)𝑤3(𝐹)𝑟6(𝐷)𝑤5(𝐸)𝑤6(𝐷)



Assume each transactions begins on the node hosting the fir-
st used resource. Build the waiting conditions and simulate the
Obermarck algorithm.


